Enharmonic Reinte

Name

retation

Analyze, then reinterpret and reanalyze each chord in the number of keys indicated. Do not use key signatures.

2 keys total 2 keys total 2 keys total
y A= L\b’ ﬁxa) 5
[ an WLl v, T |5V
NV b [2Y |4 =
Q) 14 Vv
G: Ger+6 Ab: V7T
4 keys total
2 keys total 3 keys total
_9 Y | b L Y
D YJ Y]
(> 2 H-
D=
Y,
4 keys total
ﬁ Y 2 keys total 2 keys total
by !"‘ Ir) 77 =)
(> 2 -
\y -4 Q |
Y,
4 keys total
@ 2 keys total 3 keys total y
_9 = r2d b
(e Pz> i b5
NV "D = ]
Y,
2 keys total 2 keys total 3 keys total
O .
Ao 105 #
[ an YA () Wil
NV b . o,
.) 14
4 keys total
2 keys total y 2 keys total
/ | b HeZ
V AN IS [, | .
D~ PR —
o VO o

N

3 keys total

E
#
hu

3 keys total

3 keys total

1

~

(AN

|
12
4

D
0.0

2%
Y

-

)

QQ;! !
A

Copyright © 2004 by Mark Feezell. All Rights Reserved. Visit www.drfeezell.com for more worksheets and scores.



